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1. 95 Q9 152 &I HOWOUO & —
@y 57 @ 1 @ 19 @ 38
The H.C.F. of 95 and 152, is -
(ay 57 (b)) 1 ¢ 19 (d) 38
2. FgUE flx)=5x"+13x+k BT U ol Tl TEY {cA BT YohA 8 A k &7 A 81T —
@) o @ s @ 16 & s
[f one root of the polynomial f(x)=5x"+13x+k is reciprocal of the other, then the value of k will be -
(@ 0O (b) 5 () 1/6 (d) 6
3. TS UrR Aol &1 YU U 4 AT AEIR -2 B | SUBT Urgdl ug BT —
@ = @ -4+ @ 4 R 3 '
The first term of an A.P. is 4 and the common defference is -2. Its 5"term will be -
(@ -3 (b 4 ( 4 (d 3
4. 9sec’A-9tan’ARIeR & —
@) 1 @ o (@ 8 @ o
9 sec’A-9tqn’A is equal to -
(a) 1 b)) 9 (¢ &8 (@ O
5. gfe P(E)=0.75, A ‘E T8I @ wifdear anfy -
@) o035 (8 o025 (W) o015 () 052
If P(E)=0.75, the probability of ‘not E’ is -
(a 035 (b) 025 (¢) 015 (d) 052
6. gfe 1,3,5,7,9, x ®T WG 5 & a1 X BT 79 309 PIAT —
The mean of 1, 3, 5, 7, 9, x is 3, calculate the value of x.
7. < B fb @0 g 5x-3y-11=0; -10x+6y+22=0 7 2|
Check whether the pair of equations 5x-3y-11=0; -10x+6y+22=0 is consistent.
8. 101-‘110aﬁﬂwﬁ@wﬁﬂwﬁ%ﬁwﬁﬁsﬁoaﬁmwﬁaﬁw@@ﬁwqﬁﬁﬁl\
IR & JHR T Hie! & Frae R a0 50 19 Sy |
Aladder 10m long reaches a window 6m above the ground. Find the distance of the foot
of the ladder from base of'the wall.
9.

1

afe vd fag M3y O & a1t fsddt g iv MA, MB e Yamd weeqr 60° & ®101 o gal € a1 d1or 1

MOA &1 914 §a15d |
Iftangents MA and MB from a point M to a circle with centre O are inclined to each other
atanangle of 60°, find the value of angle MOA.
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10.

11.

12.

13.

14.

15.

16.

TH G B Yol 6 WoHlo B, THHI AT S BT |
A cube has side 6¢cm, Find its volume.
Td Ol # 7 FIell, 3 ATA TAT 5 Fha T B AS B, Hﬁsﬂﬁﬁﬁﬁwﬁamﬁaﬂ?—ﬁmﬁ??ﬂ
TR ST PHIT 6 78 g whel 2 |
A bag contains 7 black, 3 red and 5 white balls. A ball is drawn out from the bag at
random. Find the probability that the ball drawn is red.

grerar (OR)
52 Uil &1 el YR A B T3 U TSI H A U T (pTar A1 G B, (et o wre A @
TIRIehdT ST BHIRAT —
() AAWHF A T (@) TP BY P JUT TER qTe] Il
One card is drawn from a well-shuffled deck of 52 cards. Find the probability of gettmg -
(a) akingofredcolour(b) afacecard.

THIE 8 W0 qTeY Teb FealeR Wv B 4[H R BT B THITE 4 HI0 § Wi I TG TP HFAR I BRT 9

B TS 30 W0 T | AR F HaTs $d PIAY |
Avertical pole of length 8m casts a shadow 4m long on the ground and at the same time a
tower casts a shadow 30m long. Find the height of the tower .

X- 38 W T8 favg Fa HIAC @1 (2, —5) 3R (-3, 5) § AIGTA 7 |
Find the point on the x- axis which is equidistance from (2, -5) and (-3, 5) .
k@ fba 73 & forg, 1 s g @ safkfia ®u @ ams o 8 ?

6x+5y=0
kx+10y=0
For what value of k, will be the following pair of linear equations have infinitely many
solutions ?
ox+5y=0
kx+10y=0
Ife tand = 8/7 a1 749 fasife |
{1-sin@)(1 + sinf)
{1 + cos&){(1 ~ cos8)
If tan® = 8/7, then evaluate.
{1 - sin@)(1 + sin6)
(1+ cos8)(1 — cos8)

Jigrar (OR)
feamgd & —
tan60® —tan30° _ tan300
1+ tan60° tan300 o0
Show that :-
tan60° —tan30?
= tan30°

1 + tané0%.tan30°

g PIfSTT 5 9 famg A(5, -2), B(6, 4) 7 C(7, -2) arer f3npet 7o wafaarg Byst
Prove that the points A(S, -2), B(6, 4) and C(7, -2) are the vertices of an isoscales
triangle.



17.

18.

19.

20.

21.

2 GF¥et 3R 3 XSl & I 9 %0 & | 4 U 3R 6 WS &1 Yo 18 B0 & | YA Ifet ok yqA® We 3
BT Y 14 BINY |

The costof 2 pencils and 3 erasers is Rs. 9 and the cost of 4 pencils and 6 erasersisRs. 18.
Find the cost of each pencil and each eraser.

fig IR f 2vs va g e 2 3
Prove that 2v3 is an irrational number.
derar (OR)
Raa it & gfd o -
@ @ QEHTT TR oo B |
(@) 27, 39, 81 @I HOWOUO oo g1
Fill in the blank -
(8) VSIS @ coreeierre et number.

(b) Decimal expansion of o iS ........covveerinrinrisinnn.
(c)H.C.F. 0f 27,39, 8108 wevvirvierieeiieeceeee e,

<1 Hepa I gl B g 6 Wowio T 3 Vol ¥ | 9 g9 #1 S a1 B i o BT S B 3
T W FA R |

Two concentric circles are of radii 6cm. and 3cm. find the length of the chord of the
larger circle which touches the smaller circle.

erar (OR)
F g1 @ IR 0P T ABCD Giar an 2
Rig SHIY AB+CD=AD+BC

C
D

A Q

AP B
A quadrilateral ABCD is drawn to circumscribe a circle.
Prove that : AB+CD=AD+BC

C
D .

S Q

AP B
3.6 HoH! f3oa aret urg & ¢ M $ feerax B & Jodlo a7 v do S wu F @ren wmar 2| 3
AT B HATS W BT |
A metallic sphere of radius 3.5cm. is melted and recast into the shape of a cylinder of
radius 8cm. Find the height of the cylinder.

9 3 &1 S i AT forgd W (1, —1), (4, 6) 3R (3, —5) T 3
Find the area of a triangle formed by the points (1, -1), (-4, 6) and (-3, -5).
Jrerat (OR)
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22.

23.

25.

26.

k #1 7 a9 PR, afe g A2, 3), B(4, k) 3R C(6, -3) O 21
Find the value of k if the points A(2, 3), B(4, k) and C(6, -3) are collinear.

Rig &1 —

cosf — sinf + 1

—_— = rosecl + cotd
cos8 + sind— 1

Prove that :-
rosf — sinf+ 1
cos@ + sinf— 1

& TE ampfa § 2 ACB=90° @ar CDLAB,
frg ®IRTe 5 — 2 pp

AC?~ aD

= cosecd + cotd

In given fig. « ACB=90° and CD_LAB,

Prove that :- 8C?  BD
Ac?TAD C
.
A D B

<1 ] B HEITS BT AT 9 T | TH G BT 9 AT W& B 3Dl I goes W a1 G ST 2 [ 2 |
g [T FI DI |

The sum of a two-digit numberis 9. 9 times of this number is 2 times the number formed
by reversing the digits. Find the number.

yforergs fafr 9 2o &901

Vix + \;'5_1- =0

v3xr—v8r =0
Solve by substitution method.

i+ \‘E_\-‘ =90

V3x—+Byr=0
YA R &0 g @ 15 2918 TR9 &1 ST B 60° 2 | 15 ADVS P ST D UTAd A BIOT
IETBY 30" €1 Il 8 § A gard STETo 15003 Hlo &1 frad SarE uR I T R, ) 7aATE e &) A
febodio ufe ever & 9 g |
The angle of elevation of an aeroplane from a point on the ground is 60°. After a flight of
15 seconds, the angle of elevation changes to 30". If aeroplane is flying at a constant
height of 1500+v3 m. then find the speed of aeroplane in km. per hour.

gigrar (OR)

T AR & UIE fag @ T waq & RBer &1 I=5797 3107 30° 8 3R W & N g @ 1e 7o+ &
RIER &1 I=199 P01 607 | A AR 50 Ho S &) T wa BT SHaTg 517 By |
The angle of elevation of the top of the building from the foot of the tower is 30" and the
angle of elevation of the top of the tower from the foot of the building is 60°. If the tower
height is 50 m, find the height of the building,




27. <V HHNTA SFITE QUITE S1d BTG FoT-7a G911 BT 21 365 8 |
Find two consecutive positive integers, sum of whose square in 365.
sear (OR)
3] Tl B g BT AU 97 2 3R ST @Al F1 U 43 B | A TS AR gid HeW § Bu
2000 FT T & &1 IFB! A(HF 1T BT BIFC §
The ratio of incomes of two persons is 9:7 and the ratio of their expenditures is 4:3. If
each of them manages to save Rs. 2000 per month, find their monthly incomes.
28. 32 WoHo S 3R R Brear 18 Voo Il TF IR TR WA WIS 2 1 39 I FIYA W
el T ST & AR 39 ¥ 31 U VaaeR S8 918 Rl 8 | I FreRr 39 3 S 24 HoHlo
2 0 59 20 B B ofR e Sar s sifeig |
A cylinderical bucket, 32 cm. high and with radius of base 18 cm. is filled with sand.
This bucket is emptied on the ground and a conical heap of sand in formed. If the height
of the conical heap is 24 cm, find the radius and the slant height of the heap.
29.  FemaE wE F@1 § ? fam 9 BP ok CQ v wuaiv By ABC @1 wiftas e § e 59 Frge &
BT A FHSIV T | B
firg & — 4BP+CQH=5BC’
Q
C P A
What is Baudhayan Theorem ? In figure, BP and CQ are medians of a triangle ABC right
angled atA. B
Prove that :- 4(BP*+CQ")=5BC’
Q
C P A
30. {99 sfiwel &7 9gd A DIV ¢
Find the mode for the following data :
i 5-15 15-25 | 25-35 35-45 45-55 55-65
Class Interval
FRARAT
Frequency 2 11 21 23 14 5
a1 (OR)
frfeifad aifmel 1 Ava® 525 B | i SRR BT AT 100 B AF X TAT y &1 A F1d BT |
The median of the following data is 525. Find the value of x and y, if the total frequency
is 100.
il 0-100! 100-200|200-300 { 300-400 |400-500 500-600} 600-700,700-800;800-900( 900-1000
Class Interval
FRHENAT
Frequency 2 5 X 12 17 20 y 9 7 4




